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1. Suppose Mike wants to pay efficiency wages to help in the construction of his beach home. If the prevailing wage rate for electricians is $22 per hour in his area, he would probably pay which of the following amounts to satisfy the efficiency wage concept?

a. $22


b. $26


c. $18


d. $20


e. $21

2. A nurse willing to work the midnight to 8 A.M. shift may earn more than she would earn if she worked 8 A.M. to 4 P.M. because of:

a. discrimination.


b. market power.


c. differences in human capital.


d. efficiency wages.


e. compensating differentials.

3. People who have higher levels of human capital will tend to:

a. work only in nonunion jobs.


b. receive higher salaries than those who have lower levels of human capital.


c. earn salaries based on marginal costs of their labor.

d. earn salaries higher than their values of marginal product.


e. consume almost zero hours of weekly leisure.

4. According to the efficiency wage model, all of the following statements are true EXCEPT: “Efficiency wages…”
a. reduce unemployment.


b. are a type of market failure.


c. are above the equilibrium wage.


d. may reduce worker turnover.


e. may increase productivity and worker morale.

5. The marginal productivity theory of income distribution is that:

a. each factor is paid the value of the output generated by the last unit employed in the factor market as a whole.

b. each factor is paid an amount greater than the value of the output generated by the last unit employed in the factor market as a whole.


c. each factor is paid an amount less than the value of the output generated by the last unit employed in the factor market as a whole.

d. the payment to each factor does not correspond to the marginal product of the factor.


e. the payment to each factor is equal to the price of the output generated by the last unit employed.

6. Barbara owns a manufacturing plant with four facilities (North, South, East, and West) in the state of Indiana. The workers at one of those facilities, North, have just decided to join a union. The union negotiates with Barbara and receives average wages that are 5% higher than the workers at the South, East, and West facilities. This wage differential is a likely example of:

a. equilibrium wages.


b. compensating differentials.


c. efficiency wages.


d. discrimination.


e. union power.

7. Explain how each of the following events would affect the equilibrium rental rate and the equilibrium quantity in the land market.

a. Developers improve the process of filling in coastal waters with rocks and soil to form large new areas of land. 

False. Income disparities associated with gender, race, or ethnicity can be explained by the marginal productivity theory of income distribution provided that differences in marginal productivity across people are correlated with gender, race, or ethnicity. One possible source for such correlation is past discrimination. Such discrimination can lower individuals’ marginal productivity by, for example, preventing them from acquiring the human capital that would raise their productivity. Another possible source of the correlation is differences in work experience that are associated with gender, race, or ethnicity. For example, in jobs where work experience or length of tenure is important, women may earn lower wages because on average more women than men take childcare-related absences from work.
b. New fertilizers improve the productivity of each acre of farmland. 
True. Companies that discriminate when their competitors do not are likely to hire less able workers because they discriminate against more able workers who are considered to be of the wrong gender, race, ethnicity, or other characteristic. And with less able workers, such companies are likely to earn lower profits than their competitors who don’t discriminate.
	Quantity of Capital (units)
	Quantity of Output 

(hula hoops)
	MP
	MRP

	0
	0
	
	

	1
	30
	30
	$300

	2
	55
	25
	$250

	3
	70
	15
	$150

	4
	78
	8
	$80

	5
	85
	7
	$70

	6
	89
	4
	$40


8. Hudsucker Industries produces a very successful brand of hula hoops. Each hula hoop sells for $10 while the rental rate for capital needed to make hula hoops is $100 per unit.
9. Refer to the table below. Assume that the price of the product is $5 and the rental rate for capital is $200 per unit. 

	Units of Capital
	Output Produced 
(hula hoops)
	MP
	MRP

	0
	0
	
	

	1
	70
	70
	$350

	2
	125
	55
	275

	3
	175
	50
	250

	4
	220
	45
	225

	5
	260
	40
	200

	6
	230
	30
	150

	7
	250
	20
	100


a. Calculate the MP and MRP for each unit of capital.
b. If the firm is maximizing profit, how many units of capital will it employ? 
The firm will employ 5 units of capital since that is the last point at which the MRP is equal to the rental rate. 
10. Smiling Cow Dairy can sell all the milk it wants for $4 a gallon, and it can rent all the robots it wants to milk the cows at a capital rental price of $100 a day. It faces the following production schedule:

a. Calculate the marginal product and the marginal revenue product for each additional robot.

	Number of Robots
	Total Product
	MP
	MRP

	0
	0
	-
	-

	1
	50
	50
	$200

	2
	85
	35
	150

	3
	115
	30
	120

	4
	140
	25
	100

	5
	150
	10
	40

	6
	155
	5
	20


b. How many robots should the firm rent? Explain. 

The firm should rent robots up to the point where VMP is equal to the wage. Therefore, it should rent 4 robots. 
c. In what kind of market structure does the firm sell its output? How can you tell? 

Because the firm can sell all of the milk it wants to at the market price of $ per gallon, Smiling Cow Dairy operates in a perfectly competitive output market. 
d. In what kind of market structure does the firm rent robots? How can you tell? 

Since the firm can rent all the robots it wishes at the market price of $100 per day, Smiling Cow Dairy rents robots in a perfectly competitive market.
What is the MRP of the 2nd unit of capital? 





MRP = MP X P = 25 X $10 = $250 


Will the firm employ the 2nd unit of capital? 


Explain. 


Yes, the firm will employ the 2nd unit of capital. That is because the MRP of $250 is greater than the rental rate of $100. 


How many units of capital will the firm hire? 


Explain.   


Hudsucker will employ 3 units of capital 
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